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Wahrscheinlichkeit:	
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Vibration:	
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thermodynamische	Funktionen	
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Die	Sackur-Tetrode-Gleichung	
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Wärmekapazitäten:	
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 Zahl der aktiven Schwingungsfreiheitsgrade.  

 
Virialkoeffizient:	
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Debye’sche	Theorie:	
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Nullpunktsentropien:	
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Gleichgewichtskonstanten	von	Gasreaktionen:	
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Maxwell’sches	Geschwindigkeits-Verteilungsgesetz	
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Konstanten:		
Atomare	Massen	Einheit	 mu	 =	 1.661·10-27	 kg	
Elementarladung	 e		 =		 1.602·10-19	 As	

Lichtgeschwindigkeit	 c	 =	 2.998·108	 ms-1	

Planck	Konstante	 h	 =	 6.626·10-34	 Js	

Avogadrozahl	 NA	 =	 6.022·1023	 mol-1	

Gas	Konstante	 R	 =		 8.314	 J·(mol·K)-1	

Boltzmann	Konstante	 kB	 =	 1.380·10-23	 J	·	K-1	

Faraday	Konstante	 F	 =	 23	

96	

kcal	V-1	mol-1	

kJ	V-1	mol-1		
Konversionfaktoren:	

1	cal	 =	 4.184	 J	

	
Integrale:	
	
	
	
	
	
Taylorreihen	für	kleine	x:	
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